too ~ to ~ (~5}7| L{F ~3}Ct) - so ~ that F0| + can’t
She is too busy to take a shower. (AH= AFRE 517| 2 HIEECE)
She is so busy that she can’t take a shower. (Ad= 2 HHEA AFQE S 4 GIC}H)

You are too old to watch the program. (H= 11 T2720S A|A57|H 42 LIo| SICtH)

You are so old that you can’t watch the program. (4= W2 0|2 H0o| 1 T2 MS A|YsS 4
2ict.)

HA .

~ enough to ~ (~5}7|0| 2&35| ~5ICt) = so ~ that F0{+ can
She is tall enough to reach the top shelf. (A= MEt ZCi7|0f| &V 228 d==2 7|7t 3Ct)
She is so tall that she can reach the top shelf. (AE= 7|7t HA MEF 2oz &S £ UC})

so ~ as to~ (~& or2 ~3ic})

She was so smart as to memorize them. (A{= 158 7| 0F2 ££510)

David was so smart as to graduate at the top of his class. (David= 12| Stg0fM 212 Y& &
&2 £E35i0})

[hint1] too ~ to: U2 ~&{AM ~¢ct
[hint2] | was finish the work last night.
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[hint1] so ~ that 0] can ~: HUS ~5iAM ~& £ Uz / AAHAA
[hint2] | was | couldn’t finish the work last night.
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[hint1] enough ~ to : ~57|0f] &%t ~
[hint2] You have time weigh up the pros and cons.
/ the pros and cons : ¥H& /weigh up : 7t=5tct
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[hint1] so ~ that S can ~
[hint2] You have __ much time weigh up the pros and cons.

5. & O ozt 75 UZ AAICH

[hint1] so ~ asto ~ : ~&2t= ~Gt
[hint2] He is to attract any woman. / charming : O &2l B4z

6. A= UolA 2E AbE THE FAtot

[hint1] so ~ asto ~ : ~&2t= ~Gt
[hint2] She is buy me a car.

Let’s practice AY

1. 1 was too sleepy to finish the work last night.

2. l'was so sleepy that | couldn’t finish the work last night.

3. You have enough time to weigh up the pros and cons.

4. You have so much time that you can weigh up the pros and cons.
5. He is so charming as to attract any woman.

6. She is so rich as to buy me a car.




